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s= k|yd rf}dfl;s cfof]hgfx?

!=	 l;? 8fF8f blnt j:tL df df]6/af6f] lgdf{0f ?= 1,80,000÷–

@=	 e;ufpF u'Djf rGb]jL df]6/af6f] lgdf{0f ?=2,00,000÷–

#=	 j8f ejg x'Fb} vfg]kfgL 6\ofÍL ;Ddsf] df]6/af6f] ?=2,50,000÷–

$=	 j8f ejg tNnf] 6f]n df]6/af6f] lgdf{0f ?=1,00,000÷–

%=	 rGbgk'/ ;fd'bflos ejgdf /ª /f]ug, ‰ofn vfkf kmlg{r/ ?=1,00,000÷–

^=	 j8f sfof{no ejgdf /ª /f]ug ‰ofn vfkf kmlg{l;Ë ;d]t ?=4,50,000÷–

&=	 j8f leqsf ljleGg s[lif ;8s dd{t ;Def/ ?=2,16,000÷–

*=	 blntx?sf] nflu pkof]uL ;fdfg vl/b tyf ljt/0f  ?=1,00,000÷–

(=	 sfn]Zj/L cfwf/e't ljBfno ICT sIff ;~rfng ?=2,00,000÷–

!)=	;/:jtL lg=df=lj= 3]/faf/ lgdf{0f ?=2,25,000÷–

	 klxnf] rf}dfl;s cfof]hgf ah]6 hDdfM ?= @!,*),)))÷–

v= bf];|f] rf}dfl;s cfof]hgfx?

!=	 ;bfgGbsf] 3/ u}/f b]lv kf]t]8fF8f df]6/af6f] lgdf{0f ?=1,00,000÷–

@=	 cdn8fF8f ;Nnf3f/L x'Fb} Hofld/] hfg] df]6/af6f] lgdf{0f ?=2,50,000÷–

#=	 ;fn3f/L k|f=lj=x'Fb} 6\jfvf]/ df]6/af6f] lgdf{0f ?=2,50,000÷–

$=	 sfkmn 8fF8f ;fhLvf]/Lof df]6/af6f] lgdf{0f ?=2,00,000÷–

%=	 bdf/ dh'jf nfd|fª df]6/af6f] dd{t ;Def/ ;d]t ?=2,00,000÷–

^=	 nfd/fª rf}/ l:yt s'jf ;+/If0f :nfj ;d]t ?=1,50,000÷–

&=	 vfg]kfgL d'xfg, 6ofÍL ;+/If0f / dd{t ;d]t ?=2,00,000÷–

*=	 cu'jf kz'kfnsx?sf nflu kmd{ btf{ / cjnf]sg sfo{qmd ?=2,25,000÷– 

(=	 ;/:jtL lg=df=lj=df jfnd}qL sIff ;+rfng Joj:yfkg ?=75,000÷–

!)=	hghftLx?sf] 6f;LUofn'ªu u'Djfdf Nxf];f/ sfo{qmd ug{ ?=90,000÷–

!!=	o'jf nlIft v]ns'b sfo{qmd ;+rfng ?=1,00,000÷–

!@=	sfn]Zj/L cf=lj=jfnd}qL sIff Joj:yfkg ?=60,000÷–

!#=	;fn3f/L cf=lj=jfnd}qL sIff Joj:yfkg ?=50,000÷–

dxf°fn ufp“kflnsf % g+=j8f sfof{no, rGbgk'/sf] sfo{qmd 

tyf ah]6 of]hgfx?  -cf=j= @)&%÷)&^_
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!$=	sfnLb]jL cf=lj=jfnd}qL sIff Joj:yfkg ?50,000÷–

!%=	gdg8fF8f ;]lt eL/ x'Fb} b]ptfvf]nf df]6/af6f] lgdf{0f ?=3,00,000÷–

	 bf];|f] rf}dfl;s cfof]hgf ah]6 hDdfM ?= @#,)),)))÷–

u= t];|f] rf}dfl;s cfof]hgfx?

!=	 dfªd'ª l;d6f/ df]6/af6f] lgdf{0f ?=3,00,000÷–

@=	 e;ufpF l:yt ;fd'bflos ejgdf kmlg{r/ vl/b ?=90,000÷–

#=	 ;fljs j8f g+= ^ / $ sf] Vofkfl;ª nufotsf a:tLdf slkm, sfutL, ;'Gtnf lj?jf 
?=&%,)))÷–

$=	 ;fljs j8f g+= !, @ / # df nf}7 ;Nnf / cn}FrL lj?jf cg'bfg ?=75,000÷–

%=	 ;fljs j8f g+=% sf] tNnf] a:tL / j8f g+=& sf j:tLdf skmL v]tL lj:tf/ 
?=75,000÷–

^=	 ;fljssf $ / % sf j:tLdf slkm sfutL v]tL ?=75,000÷–

&=	 ;fljsf * / ( sf sfutL v]tL ?=75,000÷–

*=	 lrof pTkfbg If]qdf g;{/L lgdf{0f lj?jf cg'bfg ?=1,00,000÷–

(=	 slkm pTkfbg If]qdf g;{/L lgdf{0f lj?jf cg'bfg ?=1,00,000÷–

!)=	;fljs j8f g+=^ k"/} / Vofkfl;ª ;d]l6g] u/L dlxnfx?sf] nflu t/sf/L v]tL tflnd 
?=50,000÷–

!!=	;fljs j8f g+=$, % / & sf dlxnfx?sf] nflu cfocfh{g sfo{qmd ?=50,000÷–

!@=	Psn dlxnfx?sf] nflu pkof]lu ;fdfg ljt/0f sfo{qmd ;+rfng ?=50,000÷–

!#=	rGbgk'/ gful/s ;r]tgf s]G› dfkm{t dlxnfx?sf] Ifdtf ljsf; sfo{qmd 
?=50,000÷–

!$=	gd'gf gf=;=s]=dfkm{t dlxnf l;k ljsf; sfo{qmd ;~rfng ?=50,000÷–

!%=	ckfË ;/f]sf/ ;ldlt dfkm{t sfo{qmd ;+rfng ?=50,000÷–

!^=	h]i7 gful/s ;Ddfg sfo{qmd ?=70,000÷–

!&=	jfnSnj u7g ul/ Ifdtf ljsf; tyf v]ns'b ;fdfu|L vl/b ?=1,00,000÷–

!*=	ljljw sfo{qmd vr{ ?=54,000÷–

!(=	:jf:Yo rf}sL cGt/ut cfdf ;'/Iff sf]if ;+rfng ?=50,000÷–

@)=	gf/fo0f yfg km]bL j}t0fL{ wfd vf];f{gLaf/Ldf 6«; kf6L lgdf{0f ?=1,40,000÷–

	 t];|f] rf}dfl;s cfof]hgf ah]6 hDdfM ?= !^,&),)))÷–


